Example 5B (Comparison Concept il)
| Solve the problem.

[ Peter has 6 toy cars.

‘ Henry has 2 fewer toy cars than Peter.
| How many toy cars does Henry have?
|

Thinking Mathematically

Peter 6 1
Henry ? ‘}—J,

Henry has 4 toy cars.




*3.

Study the diagrams.
Arrange the 4 boxes from the lightest 1o the heaviest.

Lightest Heaviest




.

Restate The Probler
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Example 11

Find the mass of the apple. (Each ( ) stands for 1 unit.)

banana

The mass of the apple is 5 units.




Solve the problems. Show your working and statement clearly.

Find the missing numbers.

A S A

The missing number is .

- . The missing numberis ___ .

Find the missing number.

The missing number is : |
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Solve the problems. Show your working and statement clearly.

‘1. How many squares are needed to build Figure 5?

Figure 1 Figure 2 Figure 3 Figure 4
~— S~ ~—
+2 +2 +2 @

9 squares are needed to build Figure 5.

2 How many squares are needed to build Figure 5?

L

Figure T Figure 2 Figure 3 Figure 4
~__ ~— ~
+2 +3 +4 -

15 squares are needed to build Figure 5.

2

Figure 5
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Figure 5

*3.  How many As are needed to build the next figure?

Figure 7 Figure 2 Figure 3
N~ S~ ~—

+3 +5 +7

Colour the next figure in this pattern below.

A
_25 / \sare needed to build the next figure.

Figure 4






